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I 1 mwn: forms of »1wa which necessitate na»owy np»n and the range of the mxn (v. 1)
a  Whether or not: he cooked in it or poured boiling water over the meat (in the pot) requires na*owy np*n/n1av
i Source: v 5w1an WR (v. 1)
b Range: pw1p »w1p and 0'%p 0w (even though proa is anchored in nkonn n7n)
i Dissent (¢”): does not apply to m%p wwp
ii  Source: R areferring tov. 2
1 A7 77 nron 2 nRon;DwTH VTP extends to all DwTp; NMR excludes nnn
(a) Reasoning: since nMR is needed to exclude nman, all »wTp (including v%p WTP) must be included
2 »”7 NRON D NRLVN; DYTP VTP extends to other DWTp "W Tp; MR excludes NY10a nron (as above)
3 Challenge (to both): nmn does require cleaning, per Rn»1a:
(a) A pot: which was used for 7wa should not be used for 29n; if it is, must be cleansed v"12
(b) And: a pot which was used for nnmn should not be used for pYn; if it is, must be cleansed v”12
(i) Answerl (»an): in that case, only spot of w1 is required, not entire *53
(ii) Answer2 (»37):in that case, even wine may be used; in our case (nkon +), must be water
(iii) Answer3 (851 92 727): in that case, even hot water may be used
1. Challenge: we have an opinion that np»n is with hot water
2. Answer: but it still requires an extra N9 not so for NN
II  xnn91°17's question and the implications of the discussion
a  Question: if he held the nxron w1 over the (hot) air of the pot, must it be processed?
i Lemmal: the nn is concerned both with 51 (happened) and ny*»a (didn’t happen) - not required
ii ~ Lemma2: the n1n’s only concern is 91w’1 - requires processing
iii  Provisional answer (827): from our Mwn — even pouring boiling water over it necessitates processing
1 Dismissal: question is not about ny*9a without %1w1 — but the inverse
iv  Proposed solution (/11258 72 737): the oven used in the wTpn was metal
1 Explanation: if cooking in air space didn’t matter, they could have used earthenware
2 Answer: since they bake the mnin inside, such that there is both 5’2 and ny’51 — they used metal
b Related ruling: »nR 91 n21 — a 1N which they smeared with fat; he ruled that all breads baked in it — forever — are
TMOR — even to eat with salt (alone), as a precaution against eating it with nm> (which is dairy)
i Challenge: xn»11 - if dough is mixed with milk, prohibited (1772 9310 nan); similarly, if an oven is smeared with
lamb’s fat, any bread baked in it is prohibited until they burn it out - »5nX 92 n27’s ruling is refuted
1 Question: if so, why did 11 rule that any pots used for ynn must be broken on noa (why not burn out ynn?)
2 Answerl: 27 read the Xn»1 as being metal 90
3  Answer2: even if earthenware — the 911 is burned on the inside, can exude all oyv, unlike 1P
(a) Question: if so, why not burn the pots from the inside?
(b) Answer: people are afraid they’ll burst and won't fire them up properly
(c) Conclusion: a baking mold, which is burned from the outside, cannot be “burned out”
4 Question: if so, why did the nmn require breaking vn »3? Why not return them to the kiln?
(a) Answer: they don't allow kilns in 9wy (due to smoke)
(b) Challenge (»28): do they have trash areas in n71y? (to dispose of broken parts of vIn 753)
(i) Note: »axr forgot report of 7ynw of 1215p — "3 »2w would be swallowed up in ground (1)
(c) Question: if so, why not make the 71n in the w1pn out of earthenware?
(i) Answer: since nn%n MY and D90 BN’ are baked inside and become wy1p when put there, they are
considered n1v ’53; we don’t make nvw »55 of vIN (demeaning)
1. Note: even nmin» 72 01 "7, who allows yy 93 for nw Y3, wouldn’t allow vn »9)
5  Story: nmin 92 pny’ " left n”a1 for v™ because n”17 would answer from &12v, not MMNPY, when n”17 asked 1727
to “give him one more chance”, student asked whether na®owy np»n involve entire *93 or just spot of contact
(a) Answer: spot of contact — via analogy from n»m1 v
(i) 727 challenged his analogy — and a ®Xn»12 which set n2*0w1 np>In as more severe than v12) — as en-
tire ¥53 must be processed (X1 of Nk — applies to NYn2a mron and before nprr)
(ii) Note: reason for distinction — v. 1 — nYwya nwinNi *H51 DRy

www.dafvomivicc.org 75 © Yitzchak Etshalom 2011




